
0.2

0.4

0.6

0.8

1.0

0.2

0.4

0.6

0.8
1.0

0.2

0.4

0.6
0.8

1.0

0.2

0.4

0.6

0.8

1.0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8 0.9 1.0

1.5

2.0

3.0

4.0

5.0

10

20
50

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8 0.9 1.0

1.5

2.0

3.0

4.0

5.0

10

20
50

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0 1.5 2.0 3.0 4.0 5.0 10 20 500

+
X Z

-X Z

R
Z

0
10

20

30

40

50

60

70
809000

10

20

30

40

50

60
70

80
90

00

10

20

30

40

50
60 70 80

90

00

10

20

30

40
50

1
1

1

1

1

1

1
1

1
1

2

2

2

2

2

2
2 2 2

2

3

3

3

3

3
3

0
0.0

1
0.0

2
0.0

3
0.0

4
0.0

5

0.0
6

0.07

0.08
0.09

0.10
0.11 0.12 0.13 0.14

0.15
0.16

0.17
0.18

0.19

0.20
0.21

0.22
0.23

0.24
0.25

0.26
0.27

0.28
0.29

0.30

0.31

0.32

0.33
0.34

0.35
0.360.370.380.39

0.40
0.41

0.42
0.43

0.4
4

0.4
5

0.4
6

0.4
7

0.4
8

0.4
9

0.00.10.20.30.40.50.60.70.80.91.0

0.00.0
1

0.0
2

0.0
4

0.0
6

0.0
80.10.20.30.40.50.60.70.80.91.0

0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
0-2-4-6-8-10-15-20-30-40-∞

Reflexionsfaktor |r|

|r|2

m=|U|min/|U|max

m in db

(a
ußen)

l /λ

( i
nn

en
) arc

 r

Smith-Diagramm
(Widerstandsform)

Zu Aufgabe

Nr.:

Name: Normierungs-
widerstand
RN =

Erläuterungen zum Transformationsweg:

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Oval

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil

Der Chef
Pencil




